Track Name

Aqueduct
Arlington Park
Australia A
Australia B
Balmoral

Bay Meadows
Belmont
Beulah

Buffalo

Cal Expo

Calder
Canterbury
Charles Town
Chester Downs
Churchill Downs
Colonial

Del Mar
Delaware

Delta Downs
Dover

Du Quoin Fair
Ellis Park
Emerald
Evangeline
Fairgrounds
Fairmount Harness
Fairplex

Finger Lakes
Fort Erie
Freehold
Georgian Downs
Golden Gate
Gulfstream
Harrington
Hawthorne
Hialeah
Hollywood
Hoosier

Indiana Downs
Keenland
Kentucky Downs
Laurel

Little Brown Jug
Lone Star

Los Alamitos
Louisiana
Maywood
Meadowlands
Meadows
Mohawk
Monmouth
Monticello
Mountaineer
Northfield
Northville
Oaklawn

Ocean Downs
Parx

Penn National
Pimlico
Pinnacle Downs
Plainridge
Pocono Downs
Pompano
Portland Meadows
Prairie Meadows
Presque Isle Downs
Red Mile
Remington Park
Retama

River Downs
Rockingham
Sam Houston
Santa Anita
Saratoga Flats
Saratoga Harness
Scioto

Suffolk

Sunland Park
Sweden/V64
Tampa Bay
Thistle Downs
Timonium
Tioga Downs
Turf Paradise
Turfway
Vernon Downs
Western Fair
Windsor
Woodbine Flats
Woodbine Harness
Yonkers

Zia Park

GOLD LEVEL

0.84
1.28
1.40
1.40
1.44
0.96
0.84
1.60
1.92
1.48
1.44
1.44
1.56
1.52
0.96
1.64
0.60
1.40
1.44
1.64
1.40
1.48
1.52
1.48
1.28
1.52
1.28
1.72
1.40
0.20
2.9
0.96
1.12
1.64
1.44
1.64
0.92
1.64
1.72
1.16
1.52
1.56
1.60
1.56
1.48
1.40
1.44
2.16
1.44
1.40
2.08
1.64
1.56
1.64
1.44
1.28
1.76
1.44
1.44
2.24
1.40
1.84
1.92
2.12
1.60
1.52
1.44
1.60
1.60
1.60
1.64
1.84
1.72
0.72
0.84
1.72
1.72
1.80
1.84
2.04
1.48
1.64
1.60
1.84
2.04
1.52
1.76
2.32
2.32
1.40
1.40
1.64
1.84

0.84
1.28
1.40
1.40
1.44
0.96
0.84
1.60
1.92
1.48
1.44
1.44
1.56
1.52
0.96
1.64
0.60
1.40
1.44
1.64
0.00
1.48
1.52
1.48
1.28
1.52
1.28
1.72
1.40
0.20
2.9
0.96
1.12
1.64
1.44
1.64
0.92
1.64
1.72
1.16
1.52
1.56
1.60
1.56
1.48
1.40
1.44
2.16
1.44
1.40
2.08
1.64
1.56
1.64
1.44
1.28
1.76
1.44
1.44
2.24
1.40
1.84
1.92
2.12
1.60
1.52
1.44
1.60
1.60
1.60
1.64
1.84
1.72
0.72
0.84
1.72
1.72
1.80
1.84
2.04
1.48
1.64
1.60
1.84
2.04
1.52
1.76
2.32
2.32
1.40
1.40
1.64
1.84

EXA

1.32
1.96
2.96
2.96
2.12
1.92
1.32
2.52
2.32
2.84
2.04
2.60
1.92
2.12
1.56
2.44
1.68
1.80
2.12
3.04
2.08
2.40
2.40
2.16
1.96
2.24
2.36
2.12
3.28
0.60
3.00
1.92
1.72
3.04
2.12
2.20
1.96
2.32
2.44
1.76
2.40
2.16
2.52
2.16
2.52
2.12
2.12
2.56
2.00
2.12
2.48
2.04
1.92
2.52
3.64
2.08
2.20
2.04
2.04
2.08
3.40
3.24
2.12
3.52
2.40
2.12
2.04
3.04
2.20
2.00
2.52
3.24
2.32
1.68
1.32
2.12
2.64
3.20
2.24
2.04
2.04
2.52
2.00
2.24
2.24
2.44
2.24
3.28
3.28
2.08
2.12
2.04
2.44

T
=
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g
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2.88
3.56
3.56
3.04
1.92
2.84
2.52
2.52
2.84
3.24
2.60
3.12
4.12
1.56
2.40
1.68
3.04
3.04
3.04
3.00
2.40
2.40
3.08
2.88
3.12
2.36
3.12
3.68
1.80
3.00
1.92
2.64
3.04
3.04
3.44
1.96
2.32
2.44
1.76
2.40
3.12
2.52
2.96
2.52
3.04
3.04
3.76
5.00
3.64
3.60
3.04
3.12
2.52
3.60
2.08
3.36
3.80
4.12
3.04
3.44
3.24
5.12
3.52
2.40
2.72
3.24
3.04
2.80
2.76
2.52
3.24
2.92
1.68
2.84
3.12
2.64
3.20
3.04
5.08
3.04
2.52
3.20
3.24
3.04
2.44
3.24
3.28
3.68
3.24
3.40
3.04
3.04

2.84
2.88
3.32
3.32
3.04
1.92
2.84
2.52
3.28
2.84
3.24
2.64
3.12
4.44
1.56
2.44
1.68
3.04
3.04
3.04
3.00
2.40
2.40
3.08
2.88
3.12
2.36
3.12
3.12
1.80
3.00
1.92
2.52
3.04
3.00
3.44
1.96
2.32
2.44
1.76
2.40
3.12
2.52
2.96
2.56
3.00
2.84
1.52
1.96
3.20
1.68
3.04
3.12
2.52
3.60
2.08
3.36
3.84
3.88
3.00
3.44
3.24
5.12
3.92
2.40
2.12
3.24
3.04
2.80
2.6
2.52
3.20
3.12
1.68
2.84
3.12
2.64
3.20
3.04
5.08
2.96
2.52
3.20
3.20
3.04
2.44
3.16
3.28
4.68
3.00
3.16
3.04
3.04

T
=
[t

2.84

2.88
3.32
3.32
3.04
1.88
2.84
2.52
3.28
2.84
3.24
2.64
3.12
4.44
1.56
2.44
1.68
3.04
3.04
3.04
3.00
2.40
2.40
3.08
2.80
3.12
2.36
3.12
3.12
1.80
3.00
1.92
2.52
3.04
3.00
3.44
1.96
2.32
2.44
1.76
2.40
3.12
2.52
2.96
2.56
3.00
2.84
1.76
1.96
3.20
1.68
3.04
3.12
2.52
3.60
2.08
3.36
3.84
3.88
3.00
3.44
3.24
5.12
3.92
2.40
2.12
3.24
3.04
2.80
2.60
2.52
3.20
3.12
1.68
2.84
3.12
2.64
3.20
3.04
5.08
2.96
2.52
3.20
3.20
3.04
2.44
3.16
3.28
4.68
3.00
3.16
3.04
3.04

0.84
2.88
3.56
3.56
1.88
0.84

2.88

1.56

2.64

1.52

1.64

2.40

2.80

2.28

1.88
0.56

3.00

3.44

1.96

2.32

1.76

3.12

2.56

3.00

1.76

5.00

3.04

3.12

2.08

3.80

3.00

1.68
0.84

3.72
3.12
1.80

3.04
2.36

3.00

3.20

5.12

3.12

3.00

=
o0

1.64

1.80

1.88

1.96

2.56

1.68

2.44
3.24

1.64

2.28

1.88

3.00

1.96

2.56

1.68

1.64

1.88

1.96

2.56

1.76

1.68



